GSE Geometry 3 - Similarity and Right Triangles 3.9 — Review
Name: Date:

Unit 3 Test Review

Similar Triangles: @
1) Inthe figure, ARST ~ AXYZ. _° P s

a) Find the scale factor of ARST to AXYZ| ‘ 5 5

new ‘d ‘ T= 1%
b) Find the penme’rer of both friangles. Who’r is the T 6 S
ratio of the penmeterso the 2 trianglese X o .62
: 0_3 . :Z
2.4

2) Dilations:
a) Draw a dilation with k = 2

3] Find the length of the missing side(s).
a) .,

b)

d)

4) Determine if the following triangles are similar. If so, give the postulate and similarity
statement. - : o

5) If a 42.9 ft tall flagpole casts a 253.1 ft long shadow, ’rhen how Iong is V’rhe shodow that a

6.2 ft. tall woman casts?e 42 9 .
l o W-] > 2531 74

752 .\
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SOHCAHTOA: "

é) .a) Find the 3 trig.ratios.from.Angle.-A-and-Angle-B« )
ySmA- 15 cosh=8 anAs 15 N 3 Co;,?; |s Am\’{s £
4 i1 e | 15 17

‘ "bJ_ How.do the.rafios compare. for fhe two onglese

I SinA = cosBl | SinB = cos A %’mﬂ/\ “ﬁnBEé Ly,

7) Draw ACAT where ZATC =90°, CA = 53 and CT = 28. Cl
a) Whatis the Ieng’rh of AT2 28% 4% = 55 — ﬁL\rS“ 2% S5
P i ﬁ T
T
i e
2.0
b) Whatis tan A2 — Y- C
o L ! 12
9) Solve for the mlssmg smja or angle using Trig Ratios (sm cos ’rcm)
y c) (oS0 =

60° ’
/
%/X’— {1cosO
X

f) InB] =108 yajo%
Lagl® . SWS']

A 1080 ¢

10) An 8 foot ladder is leaning against a wall so that the base is 5 feet from the base of the
wall. What angle does the ladder make with the ground2 Round to the nearest tenth.

5
11) A surveyor is standing 25 ft from a building and is looking at the top with an angle of
elevation of 65°. If his eye height is 6 ft, how tall is the building? Round to the nearest

tenth. fanS= A K=20LS 534+ 0
% 8
v; 26 X=53.0

12) A kite is being flown using 150 yards of string. The kite has an angle of elevohon with the
ground of 65 degrees. How high above the ground is the k|’re'6‘ .

S\inLs = ¥~ \SoSwnLS
[ 150 K=




